2M: JZF0He
Ha: AYS LSME SH(MNESN/C - HAY)
Chelr Lol &l ASEFE (&)
(o
SN HH-S(BN) - MBAY - B Ol &k o8 il HlnE2
Z 204 It 530,581,938 522,244,027 8,337,911
= 454,708,842
J| 1,472,467
< 74,400,629
AU “EME BER(AMI=EX/ 0 - HAH) 437,569,525 432,742,304 4,827,221
= 377,691,763
J| 1,350,007
< 58,527,755
Lolgditel &l ASEHE 19,340,718 22,507,773 A 3,167,055
=2 15,955,922
< 3,384,796
ColgXtel ¥ AMslESX(AZExX)(=2) 19,303,088 22,471,427 A 3,168,339
= 15,945,416
< 3,357,672
308 XXX SOIA 19,303,088 22,387,716 A 3,084,628
= 15,945,416
< 3,357,672
01 X HHILEES 19,303,088 22,387,716 A 3,084,628
o2+ & RHAEH 18,450,234
= 15,092,562
= 3,357,672
O=gdlla Mgl 818,389
= 818,389
OANEEAY QHEE XA 34,465
= 34,465
Colgditel 2 AMESRE(HE)(21) 37,630 36,346 1,284
= 10,506
< 27,124
101 14 Hl 37,630 36,346 1,284
= 10,506
< 27,124
03 RIHAZZ T E =+ 37,630 36,346 1,284
O QlLRelAtY HEelad o] 37,630
= 10,506
< 27,124
100HIAICH, Of 2 Al RE2I AL 4,608,723 4,444,863 163,860
(SUE)100MAICH o124 L Xtel 3,381,323 3,245,863 135,460
308 XXM S0 A 3,381,323 3,245,863 135,460
01 AXNSHHBLAEES 3,381,323 3,245,863 135,460
039y LXtel Aty 3,381,323
(LS )100MAITH o124 L X2l 30,200 51,800 A 21,600
201 et 5,000 5,000 0
01 At 221l 5,000 5,000 0
orLeldiel 2= M 2,000




2N BZZF0ie ot
FM: ALst SME B (ASSEX/E0 - Fad)
2l 100MAITH, Ol2a 2 Xtel AL (&)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
O = M= 3,000
307 21201 A 3,600 46,800 243,200
02 YAFAANHEX 3,600 46,800 243,200
O FLXNIAMH &4 S XA 3,600
308 A EHHSOIA 21,600 0 21,600
01 HXNHHNBHELS 21,600 0 21,600
OAZ HYXNJAEH &3H S XA 21,600
(CIE & )100MIAITH 01241 L Xtel 592,200 592,200 0
307 glz2tol & 592,200 592,200 0
02 It HAMHEE 592,200 592,200 0
0ozlY Bx3 540,000
oI Nd= & A==24] 52,200
(S3HE)100MAITE 2L Y Re] 500,000 500,000 0
308 MXIEHSOIH 500,000 500,000 0
01 HXNHHNBHELS 500,000 500,000 0
OEstdg gXtel AtY 500,000
100MIAICH (24 LXtel A Eotiel 105,000 55,000 50,000
201 ¢4l 5,000 5,000 0
03 A2 Z Hl 5,000 5,000 0
oz aLXiel At BIHUHa 5,000
308 XX EHHSOIA 100,000 0 100,000
01 AXHHBIYEES 100,000 0 100,000
O Z ALl ALY Al & A 100,000
LSS ALSIEH & 371,981,405 363,854,638 8,126,767
= 349,520,554
< 22,460,851
COXNER HE 28 137,680 83,000 54,680
301 et a3z 6,000 0 6,000
06 212tQ1 = 2| 0 Hi 6,000 0 6,000
OLQXEX A3t 6,000
307 glz2tol & 120,880 83,000 37,880
03 BIAHNHE2IHIEL 120,880 83,000 37,880
OAr3 &Ml 22l X2 (tHeH=2l3l) 120,880
308 XXM SOIA 10,800 0 10,800
01 AXHHIYEES 10,800 0 10,800
OLQXEX Ag 23t 10,800
ANELol8sdzll2 2L (=21) 858,188 892,212 A 34,024
= 429,094
< 429,094




2N

=]
Za: 1Y
L3

Ehel ME S X AS &0 &Y (&)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
307 glz2tol & 858,188 892,212 A 34,024
= 429,094
< 429,094
10 ALl SXAIEEE 2 H EX 858,188 892,212 A 34,024
OLeEsdEIN2 29 K& 858,188
= 429,004
< 429,094
stimlsi ol dEEH 22 XNA(21) 176,624 173,500 3,124
=2 88.312
< 88,312
307 glz2+ol & 176,624 173,500 3,124
2 88.312
< 88,312
10 ALSISXAIEEE2EHEX 176,624 173,500 3,124
Oostthuloi- dE&H 29 XN& 176,624
2 88.312
< 88,312
229 29 #4435 N 5,786,521 4,786,022 1,000,499
308 XtXIEHHSOIA 2,751,121 2,731,022 20,099
01 HXNHHNBHELS 2,751,121 2,731,022 20,099
oZzz2% 294 XA 2,566,981
OdsY =3z 0y 2 XN 89,280
OZ2Y Z28 2g4| XNA 94,860
402 2I2H X201 M 20,000 0 20,000
01 2I2F 2 A B (KR 20,000 0 20,000
OYET Z2EFAXNAME X & 20,000
403 MtXISHHE X201 & 3,015,400 2,055,000 960,400
01 XS M A=2EE 3,015,400 2,055,000 960,400
oOL=8gx 2% Jls2d XN& 2,443,000
O32Y oz 2= 572,400
LololoHEd ¥ 223 HE 229,000 195,500 33,500
201 ¢4l 8,000 8,000 0
01 At 2t 2l 8,000 8,000 0
OLel=XAY =& 7,000
ORLESA & HAIXNEZA IHAS €2 1,000
202 O4dl 14,000 14,000 0
01 = LH 4 Hi 14,000 14,000 0
Okooloisa & 8,000
OLQ=RXAE & 6,000
307 21201 A 14,000 14,000 0
04 DIZHHALALSE E X 10,000 10,000 0




2N

=]
Za: 1Y
L3

Sel: LSMEEID ASIE0 =0 EERED
= - — SHE]|
SN HH-S(BN) - MBAY - B Ol &k o8 il HlnE2
ouHold J18 2SS HAM 10,000
11T M3 SXAISEEX 4,000 4,000 0
ON= LoXN2ASAF HEH &It XA 4,000
308 XXX SO0 A 173,000 159,500 13,500
01 HXNHHNBMNEELS 173,000 159,500 13,500
Okood I8 & BANH2 N SOtE =N 20,000
okollis 28 Tz XA 94,500
Oadu=¢c XA 58,500
403 UtXISHH S =0l & 20,000 0 20,000
01 XM A2E X 20,000 0 20,000
oLols Jlse2d N 20,000
Lol 8320 A& 129,600 164,000 A 34,400
308 XXIEHH SOl A 129,600 164,000 A 34,400
01 AXHHILEES 129,600 164,000 A 34,400
OF¥x==¢ K& 129,600
JNEHS NS(NKHHMBE)(2D) 364,346,425 357,265,787 7,080,638
=2 348,876,210
= 15,470,215
308 XX EHH SOl A 364,346,425 357,265,787 7,080,638
= 348,876,210
< 15,470,215
01 AXSHBLAELS 364,346,425 357,265,787 7,080,638
OJxd3 364,346,425
= 348,876,210
< 15,470,215
dzg ZAXNAMdH 2XA(=21) 253,876 276,126 AN22,250
= 126,938
< 126,938
307 2Iztol ™ 253,876 276,126 A22,250
= 126,938
< 126,938
10 M EXNANEHEI2IHE=X 253,876 276,126 N 22,250
0Z2% ZI9XJAdH 29 XA 253,876
= 126,938
< 126,938
SMIl - 88 SHLe &= N 18,491 18,491 0
308 XtXIEHHSOIA 18,491 18,491 0
01 AXHHBILEES 18,491 18,491 0
O=EAMIl - &8I SHL2 &&= XA 18,491
S(E)ME 22X 45,000 0 45,000
307 21201 A 45,000 0 45,000




2N
X ZH -
L= B
el

2 S 4
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
11T M SRASE EX 45,000 0 45,000
O=(F)1198H 24X & 45,000
Loloz - SXAAE &3 39,307,550 34,354,448 4,953,102
= 12,215,287
J| 1,350,007
< 25,742,256
COIMEAIY 2HXE 24,276,688 20,316,751 3,959,937
308 XXM SO A 24,276,688 20,316,751 3,959,937
01 IXNHHMBNEES 24,276,688 20,316,751 3,959,937
OLQIMEAE 2IXA 24,276,688
CLOQAANLEES(IIsEY) AE(=1) 674,545 1,823,223 A 1,148,678
= 562,121
< 112,424
403 A X EHS =0l A 674,545 1,823,223 A 1,148,678
= 562,121
< 112,424
01 X SHHX2E = 674,545 1,823,223 A 1,148,678
OLQQUANE HF(JIsEZ) 674,545
= 562,121
& 112,424
LsXNAE JIs2Zd 81,000 130,000 A 49,000
402 2I2H X201 M 30,000 0 30,000
01 2I2F 2 A B (RERTH ) 30,000 0 30,000
OLQsSEAMHIA NE I 2 JIsE2T 30,000
403 MtXISHHE X201 & 51,000 130,000 AT79,000
01 XM A=2E X 51,000 130,000 AT79,000
OLQURAAE FHEZ & HE=> 51,000
LossllgMduAAY X2 (21) 4,696,333 3,461,534 1,234,799
= 4,325,570
= 370,763
308 MtXIEHSOIH 4,696,333 3,461,534 1,234,799
= 4,325,570
< 370,763
01 X HHILEXS 4,696,333 3,461,534 1,234,799
oko==sJlEAdblAAd K& 4,696,333
= 4,325,570
< 370,763
LOEESTEAMUIA SO BEXE(=1) 5,814,989 4,472,412 1,342,577
= 5,355,911
= 459,078
308 A EHHSOIA 5,814,989 4,472,412 1,342,577
= 5,355,911
< 459,078




2N BZZF0ie ot
HE: AUS LRME BH(ASSR/LQ - FAW)
el LOloR - RRAA HE CERED
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
01 HIXNHHNBHNEES 5,814,989 4,472,412 1,342,577
OL=ESsETEAMEA HIIEX 5,814,989
= 5,355,911
< 459,078
SOIJIAAEI A E&OF BXR(=1D) 51,147 112,697 A 61,550
= 47,109
< 4,038
308 XXIEHH SOl A 51,147 112,697 A 61,550
= 47,109
< 4,038
01 AXHHILEES 51,147 112,697 A 61,550
OEIIJbALAEIA &0 B X 51,147
= 47,109
S 4,038
SAHL Ats 2 g4stAY XNE(21) 114,000 118,500 A 4,500
= 105,000
< 9,000
308 MtXIEHMSOIH 114,000 118,500 A 4,500
= 105,000
< 9,000
01 HXNHHNBHELS 114,000 118,500 A 4,500
OSAHLQ A3 2 2 4dstAte XI& 114,000
= 105,000
= 9,000
SEAHAL EZTFML SSAHELB ML 2HXA( 748,166 860,421 A 112,255
o1218)(22)
J| 623,472
< 124,694
308 MHXIEHSOIH 748,166 860,421 A 112,255
J| 623,472
< 124,694
01 HXNHHNBHELS 748,166 860,421 A 112,255
O=HLo =ZHML S LML 2
GX A (QAHl) 748,166
J| 623,472
< 124,694
SEAL =SEM SSAHELB MU A 2EXA( 194,150 293,904 A99,754
aHl S4ld L RAES HIE)(=21)
J| 161,791
= 32,359
308 XXM SO0l A 194,150 293,904 N 99,754
J| 161,791
< 32,359
01 IXNHHBNEES 194,150 293,904 N99,754
OSHL ST SSHELHMHA 2
XA (HH S8 € RAES HS) 194,150




S Z2Z0Hel
MM HAS CSME BE(AMSIEX/0 - HAYH)
Gl Loz - 2XAd &= (2 &HH)
(o
SA BB (3H) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
Pl 161,791
= 32,359
SHLQ ESZSHHQ SIS ANHA 2R ( 169,229 264,356 N95,127
Jl22494])(=21)
J| 141,024
& 28,205
308 MXISHHMSOIA 169,229 264,356 N95,127
J| 141,024
&< 28,205
01 IXHHIMNEXTS 169,229 264,356 N95,127
OENHLQ EZSEHMC SS AL NHEA 2
AR D22HH|) 169,229
J| 141,024
= 28,205
SHLQO EZSHHQ SZ L SIAHIA ZHH PE( 508,464 461,340 47,124
=1)
J| 423,720
= 84,744
403 XX SHHS K201 & 508,464 461,340 47,124
J| 423,720
= 84,744
01 XFXI S Xl K= 508,464 461,340 47,124
OEHL ZSZSEHH s=Hd LS HHA &
H 2= 508,464
J| 423,720
< 84,744
TIOLED QYD 2 XIGAIS KR H AFE (=2D) 34,243 34,459 AN216
= 28,500
& 5,743
308 XAHXIEHSOIA 34,243 34,459 A216
= 28,500
& 5,743
01 AIXSHMENMNEX= 34,243 34,459 AN216
OMIMIAEI LI 2 KAAS KR HAHAS 34,243
= 28,500
& 5,743
U2 AE 29Hl XK (=21D) 1,944,596 2,004,851 A B60,255
= 1,791,076
& 153,520
308 XHXIGH SO0l & 1,944,596 2,004,851 AN 60,255
= 1,791,076
& 153,520
01 AIKSHHENEXZ 1,944,596 2,004,851 AN 60,255
OUAZANE 2dH| XN& 1,944,596
= 1,791,076
o= 153,520
SEIANE 29 I 2,331,129 2,005, 182 325,947




2N BZZF0ie ot
MY AYS LEMH BH(ASSN/L0 - Ha)
tel: SXAME 298 X (&)
= - — L=
SA - BB B () - MM - BES Ol &t o San HmEET
MIISXAE 24 2,041,408 1,996,704 44,704
307 gl2tol & 200,800 186,120 14,680
11T AS S RAEE = 200,800 186, 120 14,680
O% ASIZXAE BSAXR EX==E 190,800
OLQUSXAE SAA ARAZS 10,000
308 XX EHH SOl A 1,840,608 1,810,584 30,024
01 X HHILEXS 1,840,608 1,810,584 30,024
OAZ Le=XNAE SAX =X+ 1,433,520
OAZ ZOUA=SIAIE SAXR =X 407,088
Lo=EX B =& 281,771 4,428 277,343
301 et a3z 1,771 4,428 A2,657
0B M ERRIABLS 1,771 4,428 A2,657
OMIERRIEBNS 1,771
307 2201 A 200,000 0 200,000
11 A S XAEE = 200,000 0 200,000
OLe=EXNETAY B2 200,000
403 HtXISHH S0l & 80,000 0 80,000
01 XM A2EE 80,000 0 80,000
OZEZ0 A ME2 HE 80,000
M3 =SXAIE &It 7,950 4,050 3,900
201 Let2d] 7,950 4,050 3,900
01 At 22l 7,950 4,050 3,900
OALZISXIAIE EHIOHEOMHIS KAL) 7,950
ZOHAEX AMEE SH(MIA=EX/HAANSKR) 92,976,303 89,467,533 3,508,770
= 77,017,079
J| 122,460
< 15,836,764
U =ETAE &5 & 29 35,596,606 33,899,625 1,696,981
= 26,814,300
J| 122,460
< 8,659,846
HoANL &= =2 1,068,042 674,363 393,679
201 et 7,000 7,000 0
01 At 2teltl 7,000 7,000 0
OFMeIS & L FAUHAHAFA 2,000
OZMA=XAZE 23 4,000
OZUM=XHEH SAHL ARHED 2AtxE 1,000
202 Odl 7,000 7,000 0
01 = LH YI 7,000 7,000 0




SH: AR D
HE: ST AYE SHASSX/HLASKH)
CHelr MOjQISNAIL 25 U 29

SH-HH . B(SH) - HBAMY - B2 o AF o San H D2
OFOMO=XNS& L XHMHK XN FX 7,000
301 dEtE A= 3,300 3,300 0
09 HAIAH EA= 3,300 3,300 0
OFEMASXHME SALAF A& A B4 3,300
307 212t01 & 436,354 288,675 147,679
11T A SEXAIE EX 436,354 288,675 147,679
OXOHQIIIARHEH 2 66,588
OFMAUASAMY 29 95,730
OXOQ HOYALAXNRHEEH 29 219,036
OHMAHYAILACISIH 2H 45,000
OZOHI M SALA 22435 10,000
308 AXISHXSO0IH 604,388 228,388 376,000
01 XHNBMNEXTZ 604,388 228,388 376,000
OSH28E HAXNS HAAAE | 396,000
OAlZ EOHQICIASAIAE 29 208,388
403 X SHMS K201 A 10,000 140,000 A 130,000
01 XX SHMAA2E X 10,000 140,000 A 130,000
OQAEH JIsed & 10,000
HEWEE Z2HE=EZ20d8 29I (2D) 128,325 142,700 N 14,375
Dl 102,660
T 25,665
307 212t0| & 128,325 142,700 N 14,375
Dl 102,660
T 25,665
10 MBI SXAEEE2IHIEX 128,325 142,700 N 14,375
OFEMEEHIA Z2MESZ2 & 2N 128,325
Il 102,660
T 25,665
20N THEXNRHEH 29 486,936 373,818 113,118
307 QI2t0| ™ 311,036 267,918 43,118
TEEFNEEE: 311,036 267,918 43,118
ONZAENATBXAHE 2 35,743
OFFHMC HEXNJHEH 29 44,864
AT 2 60,770
OXNHEONMC NHANJHAEH 2H 159,659
OAZEOQ THHOtM T Z )X & 10,000
308 XX S M SO0l & 125,900 105,900 20,000
01 AXHNBMNEXZ 125,900 105,900 20,000
OAIZEOC NEXNIJLAEH &9 105,900
OXHELZEOH AFSI &0 X (QH) 10,000
OXNEHLLZHR AISIENH XN (EA) 10,000




fN: ZZF04

FH: Zo=sEN A8 SH(MIISX/HALHSIH)
Sl HOHOZNAL HE U 29 (B9 ®R)
= - — SHE]|
SN HH-S(BN) - MBAY - B Ol &k o8 il HlnE2
402 BI2FX=01 M 10,000 0 10,000
01 2I2E 2 A B (KR ) 10,000 0 10,000
OXNZZOHQ RESHANAMEH FEAAEH IS 10,000
403 MtXISHHE X201 & 40,000 0 40,000
01 XM A=2EE 40,000 0 40,000
OXNEEHAXNXRAMEYH JsES 40,000
Zopel 235 =& 160,764 130,380 30,384
307 21201 A 160,764 130,380 30,384
11T MISXASEEX 160,764 130,380 30,384
OFMEFLES XA 16,000
OFMNUBESHHMAEESRNRHAH2H) 144,764
ZOfR MNGEMEANLE 2 438,715 419,310 19,405
307 glz2+ol & 438,715 419,310 19,405
10 ALSISEXAIEEE2EHEX 438,715 419,310 19,405
OsHEEZSTAYE 29 221,172
OSHESHAMH 22 217,543
T XFASHEAE 2 2,770,669 2,598,763 171,906
201 LBr2EH| 3,000 3,000 0
01 At 2t 2l 3,000 3,000 0
OZMASXAIE SAXL 4RHES 3,000
202 odl 6,600 6,600 0
01 = LH o4 1l 6,600 6,600 0
OFMTHE X AE2E XE = 6,600
301 et a3 6,000 6,000 0
09 SAAHIEA S 6,000 6,000 0
OFMA=SXAIE SAR A& AL 24 6,000
307 glz2tol & 2,755,069 2,583,163 171,906
10 ALSISXAIEEE2EH EX 2,755,069 2,583,163 171,906
OB NZ 24 88,000
OFHQ MEQSKNAUH 29 249,167
ostUe =225 As 29 109,693
Ok =stsddH 29 226,997
OZATFMASSH=EXN2 29 1,954,480
OMctM=2tESs A 23 126,732
ZOIHZ=AIE 2G9N (21) 26,858,075 24,767,605 2,090,470
= 24,737,701
= 2,120,374
308 XXl EHH SOl A 26,858,075 24,767,605 2,090,470
= 24,737,701




2N
DS ANEE

el

X ZH
S =

ZZZ 0§t
S(MESX/HAAHEX )
g

-
=
ZOISTAL 55 o 2

SN FHE - B(BA) - MRAY - BHES Ol &t o4 San Hl B E2
== 2,120,374
01 IXNHHBNEES 26,858,075 24,767,605 2,090,470
OFOMANFAIE 2D XS (AlZ) 26,858,075
= 24,737,701
< 2,120,374
ZOHIH=AIE 2D X2 (XHA) 560,301 648,320 A 88,019
201 Let2d] 12,000 0 12,000
01 At &t 2| bl 12,000 0 12,000
OZHOMUNFAIE QHEHEARE = 12,000
307 gl2tol & 276,318 256,960 19,358
10 M SXNANEHISIHEX 268,179 256,960 11,219
OXOHe! SLIEEDIES A 29 150,648
OZOML SSMEIIH(GILIEYE) 2 48,590
OFMQ SSMEIIH(0IY,0tL) 2 68,941
11T AISISAAISEE X 8,139 0 8,139
OXZHC ==sMEIE AHAH XA 8,139
308 XX EHH SOl A 271,983 391,360 A 119,377
01 AXNHHMEBANEES 271,983 391,360 A119,377
OXOC SSMEIAE UMaE X2 (AZ) 5,703
OFMLAHN=AIZ 2 dgedd X 125,280
Ol MEAL 2H XA 141,000
ZOHAXMATHEAILE JsEBEZAL(Z2D) 1,890,789 110,098 1,780,691
= 1,332,453
< 558,336
402 QI2H X201 M 260,000 94,382 165,618
=2 78,000
< 182,000
02 QIZE 2 AL EZ (OIS ) 260,000 94,382 165,618
OHNARATHEAIL T SSAAY 260,000
= 78,000
< 182,000
403 XAXISHHM S K201 A 1,630,789 15,716 1,615,073
= 1,254,453
< 376,336
01 XM A=2EE 1,630,789 15,716 1,615,073
OZMHAMATHE AL JISEZAS 1,630,789
= 1,254,453
< 376,336
Zoiel XGASMEANE JIsEL 94,000 0 94,000
402 QI2H X201 M 94,000 0 94,000
01 212t 2 AL B (REMTH ) 94,000 0 94,000
OZH? ZOMA=BRALE JIsE2L 94,000




PN Z2Z2E0HA
HH: HA=EX ANEE SH(MIEXN/FHLAHSTE)
el ZHASIIAIE &5 5 g

=

o
[

SA - BB B () - MM - BES Ol &t o San HmEET
FAAHNES HUX =X (=1) 28,300 0 28,300
J| 19,800
< 8,500
402 2I2H X201 M 28,300 0 28,300
J| 19,800
< 8,500
02 2IZE 2 A EZ(OI XM TH ) 28,300 0 28,300
OFHAAZ HHX=X 28,300
J| 19,800
< 8,500
ZOHCIHZAIE JIsELZA(=1) 745,090 3,537,978 N2,792,888
= 573,146
< 171,944
403 MtXISHH S0l & 745,090 3,537,978 AN2,792,888
= 573,146
< 171,944
01 AXSHMA=2E X 745,090 3,537,978 A2,792,888
OHMUANFAIE JIsEZAEY 745,090
= 573,146
< 171,944
ZOHIH=AIE JISEL AL (XHA) 42,000 0 42,000
403 A X EHHS =0l A 42,000 0 42,000
01 XXM A2E = 42,000 0 42,000
OFMA=SIAE JIs22 NE 42,000
ESZAXNSMELH X2 (22) 222,300 222,300 0
= 171,000
< 51,300
308 A EHHSOIA 222,300 222,300 0
= 171,000
< 51,300
01 HIXNHHNBHELS 222,300 222,300 0
OZSHMHANSHEXNZME X 222,300
= 171,000
< 51,300
ZOHQ A 25t 73,800 73,800 0
308 XXM SO A 73,800 73,800 0
01 IXNHHBNEES 73,800 73,800 0
OFM d2=2 NHA 52,800
oZofel ot 249 21,000
ZOH=RNAIE 2 2 ML= 28,500 10,000 18,500
307 glz2tol & 28,500 10,000 18,500
11T M SXAISE EX 28,500 10,000 18,500
OE-XEcld IMuE 28,500




2N
CENYUSEX AEE SH(MESX/HLASIH)
(=] = I|

el

X ZH
S =

ZZZ 0§t

oMy & WE

SN - SAGEA) - MRAY - BES 0] &k o4 il Hl D&
fORQl Moty & THEXI& 56,708,407 55,197,968 1,510,439
= 50,066, 104
& 6,642,303
o D=2 XH 99,000 103,800 A 4,800
308 MXIEHSOIH 99,000 103,800 A 4,800
01 HXNHHBHELS 99,000 103,800 A4,800
OZOel Hao 237 2dl A& 22,400
oOHM REs4 XA 52,800
OFHe A2AHA XA 23,800
Zoe gsXd=sd N3 (212) 15,333,941 14,892,416 441,525
= 14,123,367
& 1,210,574
308 XX EHSOIA 15,333,941 14,892,416 441,525
= 14,123,367
< 1,210,574
01 HXNHHBMNEES 15,333,941 14,892,416 441,525
OZOME EsXNISH X 15,333,941
= 14,123,367
< 1,210,574
ESEX 30 (=21) 21,065 0 21,065
= 19,402
= 1,663
308 XXM SOIA 21,065 0 21,065
= 19,402
) 1,663
01 AXHHBISEES 21,065 0 21,065
OgsExX 20N 21,065
= 19,402
& 1,663
SSEMLY Es2x N2 164,520 164,520 0
308 MtXIEHMSOIH 164,520 164,520 0
01 HXNHHNBHELS 164,520 164,520 0
O=)H =M gs2x XA 164,520
Zope sxL el XN (=21) 884,520 800,496 84,024
= 737,100
& 147,420
308 A EHSOIA 884,520 800,496 84,024
= 737,100
< 147,420
01 HIXNHHBMNEES 884,520 800,496 84,024
OFOMe =X LXtel X 884,520
= 737,100
< 147,420




SRAR
X ZH -
L= B
el

A= Eo0)o
ZHUEX ANEE SH(MSZX/FHAHST)
TOHOIMEOE U HEX

(o
SN HH-S(BN) - MBAY - B Ol &k o8 il HlnE2

Zofol gety dRxiel(22) 1,636,607 2,348,976 AT12,369
= 1,363,839
< 272,768

308 XXX S0 A 1,636,607 2,348,976 AT12,369
= 1,363,839
= 272,768

01 AXSHBLEELS 1,636,607 2,348,976 AT12,369
OFOHel ety dXtel XA 1,636,607
= 1,363,839
< 272,768

ORI LRl X & (AR Xel)(222) 386,081 0 386,081
= 321,734
< 64,347

308 XXM S0l A 386,081 0 386,081
= 321,734
< 64,347

01 IXNHHBANEES 386,081 0 386,081
OH O AIZHHI & Xl X & 386,081
= 321,734
< 64,347

d2Y AZEO0HQl CHOtAL A (=1) 472,851 361,771 111,080
= 450,334
< 22,517

308 XX EHH SOl A 472,851 361,771 111,080
= 450,334
= 22,517

01 HXNHHNBHEELS 472,851 361,771 111,080
O Al 2 ZH0H QI OFOFAL IHA 472,851
2 450,334
= 22,517

LA QLAES A B A (=) 22,126 0 22,126
2 18,438
< 3,688

308 XXM S0 A 22,126 0 22,126
2 18,438
< 3,688

01 AXSGHBLAEES 22,126 0 22,126
OLLHMHALAEZS A XA 22,126
= 18,438
< 3,688

ZOHC MAZETIHAIE XA (1) 161,470 158,500 2,970
= 64,588
< 96,882

307 21201 A 161,470 158,500 2,970
= 64,588
< 96,882




2N
X ZH -
L= B
el

ZZZ 0§t

Zojel=N ABE SA(AS=X/HAHENED)
EIVEDNE

oMy & WE

SA - BB B () - MM - BES Ol &t o San HmEET
10 AL SXNAIEEE2EH EX 161,470 158,500 2,970
OZOMAMAST EHIHAIE 294 161,470
= 64,588
< 96,882
ZOHQl MASZHIHAIE 43 X 78,500 58,500 20,000
201 L2l 3,500 3,500 0
01 At 22l 3,500 3,500 0
O MAS BHIHEN B 3,500
307 21201 A 75,000 55,000 20,000
10 M2 SXNANEHE2IHEX 55,000 55,000 0
OXOHQIMALS EHOHAIA OAHE QI XA 55,000
11T MISXASEX 20,000 0 20,000
OFMAMAZT ELZHAlZ 20,000
ooz =02 (=2) 26,189,629 25,624,214 565,415
= 23,206,000
= 2,983,629
308 MHXIEHMSOIH 26,189,629 25,624,214 565,415
= 23,206,000
< 2,983,629
01 X HHILEXS 26,189,629 25,624,214 565,415
oMz XA 26,189,629
= 23,206,000
< 2,983,629
=2 00Ix) A=(=22) 3,719,141 3,537,676 181,465
= 3,295,441
< 423,700
308 AHXIEHHSOIA 3,719,141 3,537,676 181,465
= 3,295,441
< 423,700
01 HIXNHHNBMNELS 3,719,141 3,537,676 181,465
oXM== XS(II=x) 3,719,141
= 3,295,441
< 423,700
=g (ta?) XIa3(=1) 3,175,473 3,331,873 A 156,400
= 2,813,710
< 361,763
308 XXM SOl A 3,175,473 3,331,873 A 156,400
= 2,813,710
< 361,763
01 IXNHHBANEES 3,175,473 3,331,873 A 156,400
OFM=Z (K& S) 3,175,473
= 2,813,710
< 361,763
iz XNA(=12) 754,950 832,650 AT7,700




2N
X ZH -
L= B

el

ZZZ 0§t

FUASX AEE SH(MESX/HSAHASIE)
=N

oMy & WE

- _ _ RE]
SA BB (3H) - NRAY - B Ol At o ﬁ}lgﬁ HRE2

= 779,000
& 35,950

308 XHXIEH SO0l A 754,950 832,650 NT7,700
2 719,000
&< 35,950

01 AIKSHHEMNEX= 754,950 832,650 NT7,700
OO o=l XA 754,950
= 719,000
& 35,950

MNASEOMC X 2 HAH X2 (=221) 31,571 39,086 AT7,515
= 26,309
=} 5,262

308 MXISHMSOIA 31,571 39,086 AT7,515
= 26,309
& 5,262

01 IXHHIMNEEXTZ 31,571 39,086 NT,515
ONAS O &ctHl & 2 AH K& 31,571
= 26,309
& 5,262

X208 (Z1) 88,276 76,650 11,626
= 84,072
= 4,204

308 XXIEHSOIA 88,276 76,650 11,626
= 84,072
= 4,204

01 AIXSHMENMNEX= 88,276 76,650 11,626
OZMHAUABEEXI| R XA 88,276
2 84,072
& 4,204

ZOHOE JtE YEXA(=21) 479,305 481,414 AN 2,109
= 335,514
& 143,791

307 gizto| A 479,305 481,414 AN 2,109
= 335,514
& 143,791

10 MM SAANEEHESIHEX 479,305 481,414 A2,109
OXOMOIIIIE LFXIAAS 479,305
= 335,514
= 143,791

S THEMEIA HIRH XR(=Z21D) 2,310,476 2,201,566 108,910
= 2,128,070
o= 182,406

308 MXISHMSOIA 2,310,476 2,201,566 108,910
= 2,128,070
=} 182,406

01 AIXSHMENEXZ 2,310,476 2,201,566 108,910




A 2200t
H: JUU=R AMEE S (MISX/FHLASIH)
CHY: XONOIA{EIOFE O N

SA - BB B () - MM - BES Ol &t o San HmEET
OLEHEMEIA BIRH ALY 2,310,476
= 2,128,070
< 182,406
AHLERR HRH XN (21) 8,317 17,250 A 8,933
= 7,660
= 657
308 XXM SOIA 8,317 17,250 A 8,933
= 7,660
< 657
01 IXNHHBANEES 8,317 17,250 A 8,933
OANLE X HIRH™H At 8,317
= 7,660
< 657
A OlSHE IzdH 29 8,000 7,500 500
308 XX EHHSOIA 8,000 7,500 500
01 HXNHHBHELS 8,000 7,500 500
OMES OlsHEXZHEH 29 8,000
X! JIANE R0 K& A 40,000 40,000 0
307 gl2tol & 40,000 40,000 0
11T M SXASE EX 40,000 40,000 0
O &ML JIAIE<R0l K& 40,000
LM NFSEFANIA(ZA)EY) 53,526 42,821 10,705
= 37,468
< 16,058
307 glz2tol & 53,526 42,821 10,705
= 37,468
< 16,058
11T MISXASER 53,526 42,821 10,705
OLZ MR NEFAXNEA 53,526
= 37,468
< 16,058
S2EHA HEHIAHEXE(21) 2,318 6,300 A 3,982
= 2,208
< 110
308 XtXIEHHSOIA 2,318 6,300 A 3,982
= 2,208
< 110
01 AXSGHBELS 2,318 6,300 A 3,982
OzE=d4HEIHE N 2,318
= 2,208
< 110
SSFA ESHEXNA(Z2) 28,770 27,216 1,554
= 27,400
= 1,370




2N

HaM: HOHQUEX AlHE SH(AISIEX/FHLHSIH)
ol BONOIMEOE U HEX CER-ED
(o
SA BB (3H) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
308 XHXIEHSO|A 28,770 27,216 1,554
= 27,400
& 1,370
01 AIXSHMEMNEX= 28,770 27,216 1,554
O=2254 EsHESXNE 28,770
= 27,400
=} 1,370
SO ERAXRK(2D) 12,974 40,128 N27,154
= 11,950
& 1,024
308 XHXIGHH SO0l & 12,974 40,128 N27,154
= 11,950
& 1,024
01 IXHHNIMNEXS 12,974 40,128 N27,154
oYgg e 2 A XA 12,974
= 11,950
= 1,024
NG XAMME 29 N (=21D) 450,000 0 450,000
= 225,000
o= 225,000
307 2I2t0| ™ 450,000 0 450,000
= 225,000
=} 225,000
0OAMISXNALEHESIHEX 450,000 0 450,000
OXEULHMAXNREE &Y 450,000
= 225,000
& 225,000
XS ZjolAA2SI |2 2 (=2D) 95,000 0 95,000
= 47,500
o=t 47,500
307 2iz2to| A 95,000 0 95,000
= 47,500
o=t 47,500
05 QIZ2tR &2 95,000 0 95,000
OXNHEMRAAHAZSSI|2 EX - 2Y 95,000
= 47,500
o= 47,500
ZHOHOIAIDHA L AFSIE O & 671,290 369,940 301,350
= 136,675
= 534,615
SO QI QIFEHH A& 39,400 39,400 0
307 giztol A 39,400 39,400 0
11T A EXAIEEX 39,400 39,400 0
OURT SotoltHal (=3t AW EEH) 12,000
OO stots &3 9,000




2N

ZZZ 0§t

H: JUU=R AMEE S (MISX/FHLASIH)
Cholt BONQIANE 2 ASIE OIS (B9 ®R)
2 S 4
SN HH-S(BN) - MBAY - B Ol &k o8 il HlnE2
OZAE =020t 4,000
OEXZEOdY JIEHA 7,200
OZEXNHZFMA=SXUE 7,200
Z0iel 23o=sAS 10,000 10,000 0
308 XXM S0 A 10,000 10,000 0
01 IXNHHBNEES 10,000 10,000 0
OZOQ SFZAHUS 10,000
ZOfRlAl JHe F& 110,500 80,500 30,000
201 et 4,500 4,500 0
01 At 22l 4,500 4,500 0
OO =XI & Alaf 4,500
307 gl2tol & 66,000 26,000 40,000
02 It HAHE L 30,000 0 30,000
O&= XNRLLHMA=SXCHS XA 30,000
11 AISI S XA E X 36,000 26,000 10,000
Q&I Y I8 & At 26,000
OSHEML BZHA XA 10,000
308 XXM S0l A 40,000 50,000 A 10,000
01 IXNHHBNEES 40,000 50,000 A 10,000
OJ3F=0I2 3 +3SIAL DR 20,000
OLE=O0IIES HIZMCICHA CIAINH W= 10,000
OFel elHANS 10,000
ZOHQ AFSIEN =0 =& 223,000 23,000 200,000
307 21201 A 223,000 23,000 200,000
11T MISRASEE 223,000 23,000 200,000
OXNHZME RR20s =24 8,000
OFoel JisZoltHe XA 15,000
OFMA=SANSTAY 22 200,000
AR DEX(2D) 89,870 76,000 13,870
= 82,775
= 7,095
308 XX EHH SOl A 89,870 76,000 13,870
= 82,775
< 7,095
01 X HHIBLEXS 89,870 76,000 13,870
OWLZML wWsX& 89,870
= 82,775
< 7,095
OfEFe E4HIE XNA(=21) 58,520 41,040 17,480
= 53,900
< 4,620




2N
X ZH -
L= B

el

ZZZ 0§t

N =X AEE S (A

s
ZOHQI AN & ARSI & O &HCH

SISX/HAANEXH)

- _ _ RE]
SA BB (3H) - NRAY - B Ol At o %@ﬁ HRE2
308 XHXIEHSO|A 58,520 41,040 17,480
= 53,900
& 4,620
01 AIXSHMEMNEX= 58,520 41,040 17,480
OWAME AN SAtHIE KNS 58,520
= 53,900
=} 4,620
NHE oK 22X S 140,000 100,000 40,000
308 XAHXIGHH SO0l & 120,000 100,000 20,000
01 IXHHIMNEXS 120,000 100,000 20,000
OXHMHAASEHA S8A 60,000
OXHMHES SEHd3 ALY 60,000
403 XX SHHS K20 & 20,000 0 20,000
01 XIS A2 X 20,000 0 20,000
OXHEXNHEYH JsE2Y 20,000
HESHAG (Z2F0H ) (IIEH/IIE) 36,110 34,190 1,920
Jleddl 36,110 34,190 1,920
229 J24H| 36,110 34,190 1,920
201 LBt Y| 22,310 22,310 0
01 AP 22| d| 22,190 22,190 0
OEMS&Y AtR2t2/d]| 22,190
02 32%H| 120 120 0
ORMSY 22294l 120
202 04| 9,600 7,680 1,920
01 2L I 9,600 7,680 1,920
EA2Y 2o 9,600
203 € R F=&d| 4,200 4,200 0
04 EANSIELRE=XH| 4,200 4,200 0
©30¢! 0Ol at 350,000 x12& 4,200




